2004/12/16

Perkin Elmer 240011 CHN Analyzer

He, 1.4 kgf; Oz, 1.0 kgf; Air, 4.0 kgf

2

AIR He He O:
>
1) TIME 091000 ENTER (9:10:00 )
2) DATE 210601 ENTER (2001-06-21 )
3) OPERATOR ID XXX ENTER ( ENTER)
4)  Fill Pressure 6.505 ENTER ( ENTER)
5) REDC COUNTER 175 ENTER ( ENTER)
6) COMB COUNTER 968 ENTER ( ENTER)
Blank
7 VRCPT COUNTER 175 ENTER ( ENTER)
8) COMBUST TEMP 950 ENTER ( ENTER)
980-1000

9) REDC TEMP 640 ENTER ( ENTER)
10) P. XXX TIME XXXXXX

'Check Pressure’ =2>He 1.4kgf =

> >

Monitor=>1 & Monitor =22

Diagnostics»[1 HARDWARE 2 Gas]929[1LEAK TESTS 2VALVE]>1

= [ENTER CODE |2 ENTER=»'LEAK TEST PASSED’

PASS mmHg

> 45
> ENTER CODE 2

1= ; 2= : 3=

11) [HELIUM ? Y/N]=2>Yes>120 ENTER=>[OXYGEN ? Y/N]=2Yes>60 ENTER
[Purge Gag]
12) [Parameters|=»12 ENTER=>1-=»[Parameters)
13) [Parameters]=»24=>»[ACCESS NO.?|=»2400 ENTER=>[PRINT LIST Y/N?|2YES=>
14) [Parameters]=>»9=>1 CONSTANT=>1 OXYFIL=>2 (sec) ENTER (=»[Parameters])
p.7
15) ([Parameters]=>» 9> 1 CONSTANT ) =2 COMB=>»10 (sec) ENTER=>»[Parameters]
p.7
KFACTOR 18 22mg
[Monitor]<>N=>5=2>TCD 5000-15000
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100

>

Single Run Mode

Auto Run Mode

2/2

CHN

2004/12/16

Blank Runs without O2, x3 5?

Blank Runs with O2, x3 5?

KFACTOR Run & Blank Run, x3 5?
KFACTOR Runs, x3

Sample Runs, x10

KFACTOR Run, x1

Sample Runs, x10

KFACTOR Run, x1

Sample Runs, x10

KFACTOR Run, x1

Sample Runs, x10
KFACTOR Run, x1
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Blank Runs KFACTOR Runs Sample Runs
Run Method Sample Oxygen  Parameters+20
1 Blank Run None X OFF
2 Blank Run None X OFF
Stage 1 3 Blank Run None X OFF
Carbont 30, Hydrogen+ 100, Nitrogent 16
1 Blank Run None 0 ON
2 Blank Run None 0 ON
Stage 2 3 Blank Run None o ON
Carbont 30, Hydrogen+ 100, Nitrogent 16
Auto Run Auto Run
1 KFactor Run  Acetoanilide/Sn 0 ON
2 Blank Run None 0 ON
3 KFactor Run  Acetoanilide/Sn 0 ON
4 Blank Run None 0 ON
5 KFactor Run  Acetoanilide/Sn 0 ON
Stage 3 g Blank Run None o ON
KFACTOR KFACTOR
KC=16.5+ 3.5, KH=50.0+ 20.0, KN=6.0+ 3.0
KFACTOR KC+ 0.15, KH+ 3.75, KN+ 0.16
[KFactor+Blank] Blank Run
9 KFactor Run  Acetoanilide/Sn 0 ON
10 KFactor Run  Acetoanilide/Sn 0 ON
11 KFactor Run  Acetoanilide/Sn 0 ON
12 Sample Run Samplel/Sn o ON
13 Sample Run Sample2/Sn o ON
21 Sample Run Sample9/Sn o ON
22 Sample Run Sample10/Sn 0 ON
|23 KFactor Run  Acetoanilide/Sn 0 ON |
24 Sample Run Samplell/Sn o ON
25 Sample Run Samplel2/Sn o ON
Stage 4
32 Sample Run Samplel19/Sn o ON
33 Sample Run Sample20/Sn o ON
79 Sample Run Sample71/Sn 0 ON
80 Sample Run Sample72/Sn o ON
ON
87 Sample Run Sample79/Sn o ON
88 Sample Run Sample80/Sn o ON
89 KFactor Run  Acetoanilide/Sn 0 ON
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[Purge Gas]<*[HELIUM ? Y/N]=2Yes2120 ENTER=>[OXYGEN ? Y/N]2Yes2>60 ENTER
2  SSTANDBY
( )
[Parmeters]=»20->2 OFF=>[Parameters]
[Single Run]=>1 BK=>[NUMBER OF RUNS ?]=3 ENTER=>[Single Run]=»[Start]
Blank C+ 30, Ht 100, Nt 16
> >
[Single Run]=>1 BK=>[NUMBER OF RUNS ?]21 ENTER=>[Single Run]=>[Start]=>
[Parmeters]=»20->1 ON =>»[Parameters]
[Single Run]=>1 BK=>[NUMBER OF RUNS ?]=3 ENTER=>[Single Run]=»[Start]
Blank C+ 30, Ht 100, Nt 16
> >
. [Single Run]=»1 BK=>NUMBER OF RUNS 7?1 ENTER=>[Single Run]=>[Start]=>

26.

. [Auto Run]=>4 RP=>1 RESET=[RESET ALL?Y/N]=2Y=>

[AUTO RUN NO.1 1B
[AUTO RUN NO.1 K1
[Auto Run]=>START (

[AUTO RUN NO.2 1B
[AUTO RUN NO.3 1B
[AUTO RUN NO.3 K1
. [AUTO RUN NO.4 1B
. [AUTO RUN NO.5 1B
[AUTO RUN NO.5 K1
[AUTO RUN NO.6 1B

. No.1, No.3, No.5

27.

28.
29.
30.

No.5 No.X
>
[AUTO RUN NO.X 1B

[AUTO RUN NO.X K1
[AUTO RUN NO.

31.

32.

2K 3S]92=>[STANDARD S1 S2 S3 S4]21->
WEIGHT ]=22.123 ENTER
)=>[Auto Run] Auto Run

2K 3S]21>
2K 3S]22->[STANDARD S1 S2 S3 S4]21->
WEIGHT ]=1.976 ENTER
2K 3S]21>
2K 3S]22->[STANDARD S1 S2 S3 S4]21->
WEIGHT ]22.043 ENTER
2K 3S]=21=>[Auto Run]

No.X KC/KH/KN

KC=16.5+ 3.5; KH=50.0+ 20.0; KN=6.0+ 3.0
KCt 0.15; KHz* 3.75; HNit 0.16
25
>

( )=>[Auto Run]=>
2K 3S]92-»[STANDARD S1 S2 S3 S4]=21->
WEIGHT _]=21.976 ENTER X
1B 2K 3S]=21->[Auto Run]=>

=>[Auto Run]=>

[AUTO RUN NO. 1B 2K 3S]222[STANDARD S1 S2 S3 S4]21=>
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33.
34.
35.
36.
37.

38.
39.
40.
41.
42.
43.
44,
45.

46.

47.
48.

49.

2004/12/16

[AUTO RUN NO. K1 WEIGHT _]=1.998 ENTER >
[AUTO RUN NO. 1B 2K 3S]22=2>[STANDARD S1 S2 S3 S4]21=>
[AUTO RUN NO. K1 WEIGHT _]=1.958 ENTER >
[AUTO RUN NO. 1B 2K 3S]22=2>[STANDARD S1 S2 S3 S4]21=>
[AUTO RUN NO. K1 WEIGHT _]=1.937 ENTER >
Sample Runs
Samples Kfactor Run 1

[Auto Run]=>[AUTO RUN NO. 1B 2K 3S]=232>

[ID _ W]=2ID SA1 ENTER .19 .012>1 >
[AUTO RUN NO. SA1l WEIGHT _]22.113 ENTER=> = 1T TS 75
B 02 11K A1 | T 20
c 03 [[L A2 | U 21
KFactor D 04 | M A3 [ [V 22
E 05 [N 14 [ w23
KFactor Run F 06 | |0 A5 | [X 24
G 07 [ [P 16 | Y 25
[Auto Run] H 08 [lo a7z 26
] 09 |]R .18
1
= STANDBY STANDBY
[Auto Run]=>[AUTO RUN NO. _90]( 89 )>

[-

1 11>ENTER=>[11 ID SA1l, WEIGHT 2.113]=>Parameters>

RUN

[1RESET 2PRINFO, 3PRRESULTS 4RECALC]2>4=>
[1BLANK 2KFACTORS, 3SAMPLEWEIGHT]=>22>
[AUTO RUN, CARBON xx.XxX]=»

KC XX XXX ENTER =2>KH KN
K Factor ENTER >
[NUMBER OF RUNS? _]=» ENTER
KFACTOR RUN
Parameters+14 default 0.5 K
0.5
Paramters+2
K AVERAGE RESULTS
AVERAGE RESULTS

KC, KH, KN
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Found1l, Found2, Found3
[Purge Gas]<>HELIUM ? Y/N=>Y es=200 ENTER=>OXYGEN ? Y/N=>No=>200
[Parameters]=>7 ENTER=>[COMBUST TEMP 950]=100 ENTER=>8 ENTER=>
[REDUC TEMP 640]=>» 100 ENTER=>[Parameters]

[Monitor]=>1=>

2> OFF

—~ ~
N N

()

99.995

()

=>[Monitor]
[Monitor]2>NO=>1->
[Monitor]>NO=>2=>
[Monitor]>NO=>3=>
[Monitor]2>NO=2>4=>

[Monitor]>NO=>5=>

( 25h
(
® [Monitor]2YES>6=>

=>[Monitor] TANDBY
Parameters

mmHg

5000-15000 )
10000 )

® [Parameters]=2>2=>

® [Parameters]=>3>S1-$4

® [Parameters]=2>72>
® [Parameters]=>8=>
® [Parameters]=>9>

30XB1
® [Parameters]=> 13>

® [Parameters]=14>KFACTOR

KFACTOR

C,29.99; H,11.66; N, 26.69%

1 OXYFIL=22sec 2COMB=>10 sec

4 0XB2 p.7
Default: 100 counts for C/H/N

Default: 0.5 % for KC/KH/KN
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[Parameters]=>17=>
[Parameters]=>18=>
[Parameters]=>20->
[Parameters]=>22=>

[Parameters]=>23=>

N
A

UM
[\

U

NI A= %

F 7 o4 L b &

K-772%

C=16.5. H=48.5, N=5.9 ., §=17.4

HaE (HE41)

C=29.99.H=11.66,N=5.03, S =26.69

RBLE

975°C

oo ~3|co(r

BULEE

500°C

9 A O BB AL

]
0 GEBIHH) i

12 % ON/OFF

OFF

13 75 v HEHAE

100 (AU b))

14 K-772%58H

0.5 (%)

15 HHETHE

-1.0 (A7xv b, %)

16 F-K—-FIBEF

19 & HI W 5 A

ON
R AR LN S

20 [BF L7 ON/OFF

OFF

21 | ®T/SA 7 ON/OFF

QFF

7 ZEi# S L7 ON/OFF

OFF

tFalrgs -z Y7

AWERRE—F

EARERR ‘

EERES ST

T1=8.0, T2=18.0,T3=65.0,T4=95.0.75=110.0

RAM ST HEHIEE

2

BEESRT

OFF

31 ZaRER

OFF

32 7 4 L7 AR

NO

33 =

NO

TR

NO

35 E&Y

NO

36 MR

ND

37 HEHE

NO

RERLER

NO

39 ERERA- AT HEER

NO

75 v ER

OFF

[Parameters]=>24=>

SECURITY AREA

BLEED =}
FORT OFEN 1
PURGE ON &,
AUXILIARY 3
VENT 15.
OXYGEN ON 2.3
SAMP DROF 2.9
OXYy BOOSTL 1.4
COomMBUST
oxy BOOSTE

SET
G8Y .1
Ti

ZERO READ
T

N READ

4
8
=

T3 =i,
=
[

e b e G D N YU T
T e

-
M

it
o~

C READ
Té

H READ
© RESET

-
X3

RRLEL
—

I
o

3
3

et

L
&

n
=

FILL PRESSURE 6.

. 1: COMB = 30 sec
0xY e REEEEEE R OXB2=0sec

VOLTAGE DIFFERENTIAL 2.

=

B3z

S05

717
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Parameters 2, 3

( )

C=71.09, H=6.71, N=10.36 %

10.
11.
17.
18.
28. ROM
40.

41.

Parameters-9

Security Area
Parameters-9

Parameters-9 6
Oxygen ON [Oxygen

ONJ+[OXYFIL]= 4.5 sec

extended from 10 sec into 30 sec
i on 2003-05-13 in order to

enhance the complete combustion of
-2 compounds involving P atoms

COMBUST+COMB=0.1+30=30.1 sec
Extended
Combustion COMB

30 sec



30.1

® [Parameters]=>27=>Monitor/Parameters/Diagnostics

2004/12/16
10.1 sec

p.10

Monitor

AUTO RUN

Auto Run

STANDBY Auto Run
START

AUTO RUN

[Auto Run]=»[AUTO RUN NO. _XX]=2»XX Run =>ENTER=>[Parameters] =2

[LBK 2KF 3S 4RP] >

=[Auto Run]

[Diagnostics]=*1 ENTER 1ROM =>[Diagnostics]=>Yes>
CE

25h 20 30
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Start
Auto Run [Start] Auto Run [Start]
Single Run Single Run
Parameters+19 [INSTRUMENT UNSTABLE, START Y/N ?]
Yes No
[Start]
( sTART )
Y
INSTRUMENT UNSTABLE | No 2yt
START? YN
Yes
/
RERE
Standby
[Auto Run] [Single Run]
[Standby] [STANDBY ? Y/N] [Yes] Auto Run
[Start]
Auto Run [Standby] [Start]
#T
HEITFORMEERLT S
Standby
HAEE
sam pledSn.
gl ~— -
p.1(3)-10 He l
s 1 [ J
NO2, CO2, H20 % HAERbBO
NO2 1 e = 773\
Z 2
N> Nz, CO2, & & o
H20
TCD
s
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N2z, CO2, H20

TCD Counts
A

HR | - - - == e o e e e
N, + CO, JQHR-CR
CR

CR-NR

NRf- = - == == e

-z

7R | _Basdline SR A e T

_|
N
|~
(L
_{
w
~~
«
_|
S
Lown)
«

T1(9)

0 ti me'(s)

Presumably, this time corresponds to GSV (line 13th in Security Area Codes)

Security Area p.7
(NR-ZR) (CR-N) (NH-ZC)
KN, KC, KH, N, C, H
KN= (NR-ZR)k r.run - (NR-ZR)gank-rRUN
10.36x(Sample Weight mg)x10
KC= (CR-NR)kfr-run - (CR-NR)gjank-ruN
'< 71.09x(Sample Weight mg)x10
KH= (HR-CR)kf-run - (HR-CR)gjank-RUN
q 6.71x(Sample Weight mg)x10
( N (%)= (NR-ZR)ke.run - (NR-ZR)gjank-rUN
KNx(Sample Weight mg)x10
C (%)= (CR-NR)kf-run - (CR-NR)gjank-rUN
< KCx(Sample Weight mg)x10
+_(HR-CR)kr-run - (HR-CR)gjank-RuN
H (%)= .
g KHx(Sample Weight mg)x10
(NR-ZR)Blank-RUN, (CR-NR)gIank-rUN, (NH-ZC)Biank-RUN NB, CB, HB
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812-8581 6-10-1
Fax: 092-642-2596

E-mail: ksakaiscc@mbox.nc.kyushu-u.ac.jp
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